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Инструкция по выполнению работы 

На выполнение работы по английскому языку даётся 45 минут. Работа включает в 

себя 5 заданий. 

При необходимости можно пользоваться черновиком. Записи в черновике 

проверяться и оцениваться не будут. 

 

Желаем успеха! 
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1. Вы услышите 6 высказываний. Установите соответствие между 

высказываниями каждого говорящего A-F и утверждениями, данными в 

списке 1-7. Используйте каждое утверждение, обозначенное соответствующей 

цифрой только один раз. В задании есть одно лишнее утверждение. Вы 

услышите запись дважды. Занесите свои ответы в таблицу. 

 

1. I’m sure clothes should be practical. 

2. Parents often criticize fashion choices of their children. 

3. Clothes make you look your best. 

4. I believe many people misunderstand fashion. 

5. I must have enough clothes to choose from. 

6. You and people around you should feel good about what you wear. 

7. Thinking about fashion is a waste of time. 

 

A B C D E F 

      

 

2. Прочитайте текст и заполните пропуски A-F частями предложений, 

обозначенными цифрами 1-7. Одна из частей в списке 1-7 лишняя. Занесите 

цифры, обозначающие соответствующие части предложений, в таблицу. 

 

Language and mobility 

European Union citizens have the right to live and work in other member states besides 

their home country. The European Union (EU) makes it possible for people to go where the 

jobs are. Knowing other languages is the key to real mobility in the EU, A _____ across the 

continent. 

Learning the local language is not only the key to getting a job in another country, B 

______. This often provides a whole new perspective on what it is to be European and on what 

the EU is creating jointly. The national histories and cultural heritage of the different countries 

may differ, C ______. Being able to speak to one another raises awareness of what people have 

in common and at the same time increases mutual respect for cultural differences. 

A study undertaken for the European Commission shows D ______ through a lack of 

language skills. This is particularly the case for small and medium-sized enterprises E ______. 

According to the study, nearly 1 million firms have lost contracts with potential clients in other 

EU countries because of language barriers. The study also emphasized the necessity of 

multilingualism for winning business in the word markets. Multilingualism itself is an 

economic growth factor. In this context, English is the key language, F _______. 

1. it also creates a bridge to the culture of the local people. 

2. enabling all EU citizens to take advantage of job and travel opportunities.  

3. that EU firms can lose business opportunities. 

4. that are failing to use export opportunities in other EU countries. 

5. employing native speakers to work in export markets worldwide. 

6. but the EU’s collective objectives for the future are closely in tune. 

7. but the study also stresses the importance of Chinese, Arabic and Russian. 
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3. Прочитайте приведённый ниже текст. Образуйте от слов, 

напечатанных заглавными буквами в конце строк, однокоренные слова так, 

чтобы они грамматически и лексически соответствовали содержанию текста. 

Заполните пропуски полученными словами. Каждый пропуск соответствует 

отдельному заданию. 

 

The world’s language 

The English language is famous for the richness of its vocabulary. 

Webster’s New International Dictionary lists 450,000 words, and the 

new Oxford English Dictionary has 615,000, but that is only part of 

the total. Technical and (1)__________________ terms would add 

millions more.  

SCIENCE 

The wealth of existing synonyms means that (2)_________________ 

of English have two words for something denoted by one word in a 

different language. The French, for instance, do not distinguish 

between house and home, between mind and brain. The Spanish 

cannot differentiate a chairman from a president.  

SPEAK 

In Russia, there are no native words for efficiency, challenge and 

engagement ring. Of course, every language has areas in which it 

needs, for (3) __________________ purposes, to be more expressive 

than others.  

PRACTICE 

The Eskimos have fifty words for types of snow, though there is no 

word for just plain snow. (4)__________________, African 

languages have no native word for snow.   

NATURAL 

Nowadays, globalization influences the (5)__________________ of 

languages. 
DEVELOP 

 

Some native words (6)__________________, giving way to 

international terms. 
APPEAR 

 

 

1  

2  

3  

4  

5  

6  
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4. Прочитайте текст и заполните пропуски, напечатанными в правой 

колонке под цифрами 1-8. Каждое из этих слов может быть использовано 

только один раз. В ответе укажите цифры, под которыми значатся 

выбранные вами слова. Два слова в этом списке 1-8 лишние. 

 
Gorky Park 

Gorky Park is a bright spot on the entertainment map of modern 

Moscow. It is one of the most interesting places to A ______ your 

leisure time. There are bike rental stations, a B ______ business area 

with Wi-Fi, an outdoor movie theatre in Gorky Park. 

There are also several different sports options in the indoor sports 

centre or on the park’s grounds: you can C ______ volleyball, 

handball, football and hockey or go jogging, or cycling around the 

park. If you find that you are hungry, you can stop and D ______ a 

tasty break at one of Gorky Park’s many cafés. Many E ______ events 

such as exhibitions, Christmas and Easter fairs, concerts, theatre shows 

and environmental and charity events take place in Gorky Park. These 

events have become very F ______ among Moscow citizens. 

1) comfortable 

2) cultural 

3) enjoy 

4) play 

5) popular 

6) see 

7) spend 

8) take 

 

 

A B C D E F 

      

 

 

5. 5. Прочитайте текст вслух. У вас есть две минуты на подготовку и две 

минуты, чтобы прочитать текст вслух. 

 

Charles Robert Darwin was an English naturalist. He is famous for his work on the theory 

of evolution. His book On the Origin of Species did two things. First, it provided a great 

deal of evidence that evolution has taken place. Second, it proposed a theory to explain 

how evolution works. Evolution and natural selection are the key to understanding the 

variety of life on Earth. Darwin spent almost five years on board a Royal Navy exploring 

ship. He was the guest naturalist, which meant that he was responsible for making 

collections and notes about the animals, plants, and the geology of the countries they 

visited. The ship’s crew made charts of all the coastal areas, which could be used by the 

navy wherever it went in the world. 

 


